HI/NER - P FR-TILEFFRAERER

(BfL: 4 Sv.h)

. = 50cm
No| MR |MEE e B i MELT I = 1
1 BENER 0.06 - - _
2 HIREFER 0.06 - - -
3 AENE/NER 0.07 - 0.06 -
4| 9A8H 5 FINERRZ 0.06 - - _
5 # |FEPER 0.06 - - -
6 | E 0.07 - 0.07 -
7 = o B NERR 0.07 - - -
8| 9A12H BIRINERR 0.06 0.07 0.07 -
9 oF1H YRR 0.06 - - -
10 BUR/INERR 0.08 - 0.09 0.08
1] 9878 | M |KANER 0.07 - 0.08 0.08
12| 9A148 | Am [AIFRFFER 0.05 - - 0.07
13 oA1E | 4 KIFINERR 0.08 - - -
14 TN FERR 0.08 - - -
N = 50cm

No| BIFER [#X%£ % B ST AR = %
1 BEINFER 0.06 - - _
2 iR e F R 0.07 - - -
3 KENEDFRR 0.06 - 0.06 0.06
4| 9A278 5 FINER 0.06 - 0.07 -
5 # |FEPER 0.06 - - -
6 &k 0.07 - 0.07 -
7 = B NERR 0.06 - - -
8| 98288 IR INERR 0.07 - 0.07 0.07
9 9A218 PR 0.07 - - -
10 BURINERR 0.07 - 0.08 0.07
11 98268 | MM |KAB/NFER 0.07 - 0.07 0.07
12| 10A38 | MA@ [AIRERFFERK 0.05 - - 0.05
13 oR21E | i jclﬁll\iffff 0.08 - - -
14 TN 0.09 - -

BIES: 7OAWRENUFL—2ar AP —_AAA—H(TCS—172)




